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Jaw the shear and bending moment ‘¢ KN .
Ziagrams for the compound supported
peam shown in the Figure SkN

Question No. 8 ( Maximum Shear )
Question No. 9 ( Maximum Moment )

Question No. 10 ( Moment at E)
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rmine the force in members,
icated in Questions 4-7, of the
ss shown and state if the
members are in tension or
compression.

Question No. 4  member GF )
Question No. 5 ( member GD)

Question No. 6 ( member CD )

Question No. 7 ( member GB )
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contact A, B, and C. Determine the magnitude
of reactions at these points needed to
support the force of 300 N. Neglect the pipe’s
thickness in the calculation.

300 sin 30

Question No. 1 (Reaction at A)

Question No. 2 (Reaction at B)




1- Determine the magnitude of the moment of the
Force F about point 05
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2- Replace the loading by an equivalent resultant force and Couple
moment acting at point B.
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Determine the moment about the a-a axis.
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